AQAY Mock Test Papers
Paperd3 -Test2

GCSE Mathematics

Foundation tier --Paper3

For this paper you must have: .
calculator Mor’nmg

mathematical instrument

i | Bee _
e 1 hour 30 minutes

Instructions

Use black ink or black ball-point pen.
Draw diagrams in pencil. Fill in the boxes at the bottom of this page.

Answer all questions.
You must answer the questions in the spaces provided.
Do not write outside the box around each page or on blank pages.

Do all rough work in this book.
In all calculations, show clearly how you work out your answer.

Information

The marks for questions are shown in brackets.
The maximum mark for this paper is 80.
You may ask for more answer paper, graph paper and tracing

paper.
These must be tagged securely to this answer book.

Advice

In all Galculations, show clearly how you workout your answer

Please write clearly, in block capitals, to allow character computer

Centre number
recognition. | || | || | | Candidatenumber | | | | |
Surname
EREEEEEEEEEEEEEEEEEEEEEEn

S OO OO OO ]

Candidate signature /

2024 - 01 ¢ % Prepare | 6056



Do not write
Answer all questions in the spaces provided. e
1 (a) Which of these is a cube number? Circle your answer. [t mark]
3, 4, 9, 25, 49, 64, 81
1 (b) Solvey-12-84 [1 mark]
y =
1 (c) Simplify 36:72 [1 mark]

02"



2  Hereisalist of numbers.

2 4 6 8

2 (a) Write down the mode.

2 (b) Work out the median.

2 (c) Work out the range.

03"

10 8 10 8 6 7

ANSWEY ...

Answer

Do not write

outside the
box
[1 mark]
[2 marks]
[1 mark]
7

Turn over »
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3(a) Work out the value of 6x - 9y when x =-6 and y = -4 [ 2 marks ]
ANSWED ...
3 (b) c>5 d<3 c—-d=7 [ 2 marks ]
Work out a possible pair of values for ¢ and d.
C = weevrsmnereessinnen d =
2 Prepare ' 6036

04°*

Do not write
outside the
box



Do not write
outside the
box

4 (a) Complete these statements with one of the following symbols = > <> <

[3 marks]
-7 2
95+5 25.29
(—25)° 625
4(Mb) Match the algebra to the correct description. [3 marks]

One has been done for you.

Formula

10b =50
Equation

8a>16
Inequality

4a+a=Dba
Identity

4a+2b
\ Expression

Turn over »
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5(a)  Match the name to the correct sequence.

One has been done for you. [2 marks]
Name Sequence
3,6,9,12,15...
Quadpratic sequence
1,1,2,3,5,8,13, 21...
Fibonaccal - type
sequence
-5,3,6,7,9....
Linear sequence
2,7,14 23,34..
2 -5 3 .,.2
5() Simplify a@xa  xbXxb [2 marks]
a2X b4
% Prepare ' 6056
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6 (a) Hereis aright-angled triangle.

41 cm

9cm

Work out the perimeter of the triangle.

Give your answer correct to 1 decimal place.

Answer

07"

[3 marks]

cm

Turn over »
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6 (b) Factorise fully x2+ 10x +25

[2 marks]

[2 marks]

08*

% Prepare ' 6036
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A-2% 5% 3

B- 4x 5% 3°

7(a)  Write down the number that A represents. [1 mark ]
ANSWE....ovmrrrerrrn
7 (b). Find the Highest Common Factor (HCF) of A and 2B
[2 marks]
ANSWEI...omrrrerrrirre.
2 Prepare ' 6036
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Do not write

outside the
8(a) Three apples have masses of 120 g, 150 gand 190 g. - ks] box
. . . marks
Show that their total mass is between 1/5 and 1/2 of a kilogram.
ANSWer.........omes grams.
8(b) For each statement, tick the correct box. [3 marks]
Always true Sometimes true Never true
One of the angles in a triangle is 60°
One of the angles in a triangle is greater than 90°
One of the angles in a triangle is more than 180°
12

Turn over »
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Do not write
outside the
box

9(a) Inaclassroom, the ratio of boys to girls is 6 : 4

Write the fraction of students who are boys. [ mark]

Answer

In the same classroom

the ratio of students who prefer French to those who prefer Spanish is3: 7

9(b)  Write the percentage of students who prefer Spanish. [1 mark]

Answer %

% Prepare ' 6056
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Do not write

outside the
box

10 (a) Eeshu buys a mobile for £800.
She pays a deposit of £150.
She pays the rest in 6 equal monthly payments.
Work out the amount of each monthly payment.

[3 marks]

10(b) Ify=9
Work out the value of y2+ 9y

[2 marks]

Answer

Turn over »
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11 (a) Complete the table of values for vy =3+ 3x

11 (b) Draw the graph of y = x2 + 3x for values of x from -3 to 1

YA

13"

=Y

Do not write
outside the
box

[2 marks]

[2 marks]
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Do not write
outside the

12 The pie chart shows information about number of visitors at a local museum during box
three- day weekend.

[3 marks]
Saturday

Sunday

Friday

There were 85 more visitors on Saturday than on Friday.
Calculate the number of visitors to the museum on Sunday

Answer —_

Turn over »
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13

The number of rabbits in a small park is expected to decrease by 2% each year.

Currently, there are 50,000 rabbits in the park.

Calculate the expected number of rabbits in the park after three years.

You must show your working.

Answer

[3 marks]

15*

= Prepare | 6036
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14 (a) Here is a cuboid made from metal.

4 cm

2cm

6 cm

The mass of the cuboid is 1 kg. Work
out the density of the cuboid in g/cm3

Answer

14 (b)  Write down the two solutions of (x -2) (x+4) =0

Answer

16~

[3 marks]

g/cm3

[1 marK]

Turn over »
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Do not write
outside the

15 Eeshu has £100. pox
She saves some money and gives the rest to her two sisters.
The ratio of money saved money given to her sisters is 1:4.
She gives each of her two sisters the same amount.
How much money does each sister receive?

[3 marks]

Answer

17* X Prepare ' 656



16

Do not write
outside the
Apples are sold in boxes. box
6 small boxes have a total weight of 720 g.
4 small boxes and 3 large boxes have a total weight of 1140 g.

Work out the weight of a large box of apples.

[4 marks]

Answer g

Turn over »
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17 Simplify fully 15a + 9b — 5a + 6b

Answer

18 Here are three straight lines.

85°

B

Arethelines ABand CD parallel ? Tick a box.

Yes

Show working to support your answer.

No

197

Not drawn
accurately

[ 2 marks]

[2 marks]

% Prepare - 6056
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19 A coffee shop owner recorded the orders of 100 visitors.

€ = the visitors to the coffee shop

M = ordered muffins
C = ordered coffee

3
M C

1
Complete the frequency tree below.
ordered
ordered coffee
muffins

total
visitors

20*

[4 marks]

Turn over »
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20 (a)

20 (b)

The term-to-term rule for a sequence is

add 3 then divide by 2

The 1st termis 5
Work out the 3rd term.

Answer

The term-to-term rule for a different sequence is

multiply by 2 then subtract 7

The 3rd term of this sequence is 41.
Work out the 1st term of the sequence.

Answer

[2 marks]

[2 marks]

0 not write
outside the
box
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22

21 Letabeanumber greater than 5 and less than 8.

Let b be a number greater than 2 and less than 5

a+b=11.

Work out a possible pair of values for a and b.

a= 5 b= 1
2 2
Circle the vector a—b
4 4 6 6
) () (3 G
Circlethevector a+b
) G (G (8
4 3 0 0
END OF QUESTIONS
22

[2 marks]

[1 mark]

[1 mark]

Do not write
outside the
box
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